Pre-Calculus
REVIEW: Conics

1. Identify the vertex, focus, axis of symmetry, and directrix. Then graph the parabola. .
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2. Write an equation for a parabola with focus: focus (0, 4), directrix y = -2

3. A cross section of a satellite dish is in the shape of a parabola.

The antenna is located at the focus which is 2 inches from the vertex.
The satellite dish’s vertex is at the origin and the satellite points upwards.
Write an equation for the cross section of the satellite.
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5. Write the equation for the ellipse in standard form. Identify the center, vertices, and co-vertices. Then sketch a graph.

1 2
(X—\) % Q_":__?) =\
Equation: ¢ Y

Center: ( e 33

A (3.8-3)
Verticesé e - 3) ol - p_q,"-s

Co-vertices: (\rﬂ
f (‘\'5)
Foci:
(142} -3)
(3-3)+(3)

{
3 o‘)!ﬂs "? d

-\7' (0,0

cendec

|% (\/—tj = xa

(\, +3)1 T -2u0x-80

4P+ 8y —8x+48y+44=0

¢

gi-iss Lo+ ?,C,"* G\,el):

tlefh ]

4. Write in standard form: y* + 21 = -20x — 6y — 68
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6. Write an equation in standard form for the ellipse with the given set of characteristics.
foci: (-6, 9), (-6, -3); length of major axis equals 20
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7. Identify the center, vertices of the hyperbola, equations of the asymptotes, foci, and sketch a graph, - EA'
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8. Write an equation for the hyperbola with the given characteristics.
vertices: (-3, -12), (-3,-4); foci: (-3,-15), (-3,-1)
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